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Candidates are required to give their answers in their

1.

own words as far as practicable.

Answer any ten of the following questions:

1x10=10

fawfariie emiefem St @@ wifte Tea wie ¢

a)

b)

d)

Define GDP.

GDP-93 451 @ie |
Define National Income.
SRS S I 7S |

State the three methods of National Income

Accounting.

[

SIS ST Sleled foq oiafe Sae 41

Define real GDP.
&Fe GDP-49 4G 1S |

[Turn Over]

g)

h)

i)

k)

D
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What are the functions of money?

SIFIE Fieel w9

State the tools of monetary policy.

Wi i e gl SrEe 39|
What is money mutiplier?

ey 52

What is the basic difference between

Classical and Keynesian System?

FIPRIT ¢ (@2 T eisre oG Teard
R

Define hyperinflation.

sErelfe Jurerifon q7e wie |

What is the difference between closed and

open economy?
7 € Y& Gdifed N ALHT Trard 741

State the National Income Equilibrium

condition.

SO O SIIAIGH *$h S 4|
What is MPC?
MPC3 431 wie |



What is effective demand?
IR vifevE il e |

What is investment multiplier?
i s il wie |

What do you mean by the term "Simple" in
the Simple Keynesian Model?

Y (AT AFCE ALY *wiog o 52

2.  Answer any five questions from the following:

2x5=10
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a)

b)

d)
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Explain the equilibrium condition in the

circular flow of income?

SR SIS SRHIGHA 70 -l 54|

Explain the concept of current and capital

account in balance of payment?

ffeey AGH veIfs @ Y Ared wFG
4|

State the major determinants of money supply.

e @i e [Renefs See F91

Explain the open market operation of Central
Bank.

@R TIET Q@ IS N’ S w41

[3] [Turn Over]

g)

h)

Explain the social costs of inflation.
urifen e wfon freef Sae 41
Explain speculative demand for money.
EIRERCE G PRI E DR I
Define IS curve.

[S-cza1= 4191l i |

Define LM Curve.

LM-(F4[5 49T vl |

3. Answer any two questions from the following:

5x2=10

fmfiie afwflr T @@ foa Tex we s

a)

b)
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Derive the equilibrium condition in Simple

Keynesian Model for closed economy.

L (AT 2CE T LSS T S A
ife fefa w1

Explain the quantity theory of money.
ogfq SAfae ©el’ v F91
Explain the concept of credit multiplier.

Yol R NG T FHI



4. Answer any one question from the following:

10x1=10
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a)

b)
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Explain the different methods of accounting

National Income.

TR SR Sl [Jfen smfowfe SiEna 41

Why ballance of payment is always in

ballance? Explain.
AfVSTHARY @ A7 JANT AT AF — TR F7 |

Derive monetary multiplier in the IS-LM

model.

IS-LM &<ta Sifeseasis el 41

[5]



